o(d @) (rad)
a(d cot(d))

2 i}
g 3
o o 1:— -------- “H S
E 0.95F--++-+ AR AT Y
I : : : ; : ook : : : i :
=3 -2 -1 0 1 2 3 =3 -2 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

—=— DQM_mKkFit_baseline
—e— DQM_mkFit_baseline6iter
—— DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3

= A 3
5 S
::? o'
) o
3 e}
107}
|
AEANARITEAAANARAR(IN

8 o
I I
x o B |l b 1 R NSO R

83— =2 -1 0 1 2 3 093—=3 -1 0 1 2 3

TP n (PCA to beamline) TP n (PCA to beamline)

=

0P /P,

,_.
<
L

1072

L.

1.05

Ratio

iy

0.95
0.9

=2 -1 0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


